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- Jdgntify the punishment Wthh is not prescribed under the category of punishments in the
Indian Pénal Code:
(A) Death (B) Imprisonment for life
(C) Slmple imprisonment with hard labmn (D) Forfeiture of property
T 38 wfem ¥ B9 @ Se B Ao A T oo @
(A) 79 (B) SR FTET
(C) #e7 sm & WY VYRV FE (D) wwufq 5= -

The maxim “actus non facit reum nisi mens sit rea” means:

(A) Prohibited act constitutes an offence

(B) Guilty intention of accused constitutes an offence

(C) Neither guilty intention alone nor the prohibited act alone constitutes an offence

(D) Prohibited act followed by guilty intention constitutes an oﬂ“ence
“eew T wige fam felt wg far fan” st @ aed 2

(A) fifrg &+ ¥ sy &1 Fmfor g @

(B) et o1 gerfvra @ oty w1 Pmfw g &

(C) 7 faw st o1 gerivr ok 7 fow Faftrg & ® ooy =1 o gl &
(D) ﬁﬁzmﬁ#ﬁmﬂgﬁmﬂmﬂwﬁﬁwm%

When a criminal act is done by several persons in furtherance of the common intention of
all:

(A)--Each of such person is liable for that act in the same manner as if it were done by him
alone

(B) Each of such person is liable for his own overt act .

(C) Each of such person shall be liable according to the extent of his partxclpatlon in the
crime

(D) Both (B) & (C) _ : '

S T AWGF K TP AR F G I WA N P g R o ¥

(A) %ﬂmgﬁﬁaﬁrwmﬁmwﬁaaﬁmﬁm,ﬁﬁ%ﬁwﬁm

(B) u+ft =aferdl &t haw 30+ & & o qfae
(®) aﬁmﬁmmﬁmwmmm
(D) (B) W (C) =l

Consider the following statements:

The actus reus is made up of

1. Human action which is usually termed as conduct

2. The result of such act in the specified circumstances which-is designated as mnjury
Which one of the statements above is/are correct?

(A) 1 only (B) 2 only

(C) Both1and2 (D) Neither 1 nor 2
ﬁmﬁf@ﬂwuﬁmﬁmﬁ-

“raew e ol ®

1. AeE % mmwm%

2. ﬁﬁmwﬁf&uﬁm’rﬁmﬁammwaﬁ gfq o1 e 2
HIT W FE I T

(A) ®od | (B) ®ad 2
(C) 1 3R 2 M (D) 1 3R 2 =H &
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A, puts jewels into a box belonging to Z, with the intention that they may be found in that
box, and that this circumstance may cause Z to be convicted of theft. A has committed an
offence of’

(A) Cheating (B) False representation

(C) Theft (D) Fabricating false evidence
Q@m'z'%fsdﬂmmﬁm fa wftfeerfaal 2! =1 a1t & fog <t fog
(A) dranyEt (B) faean sqwiyr

(C) = (D) TeTETS W MO Wisd

Which one of the following statement is correct:

(A) Abetment of an offence is an incomplete offence
(13) Abetment of an offence is a continuing offence

(C) Abetment of an offence is a complete offence

(D) Abetment of an offence is an offence depending upon circumstances of the case

frefefas & | #59 ® %97 981 #

(A) FTMY F GER T o Sy §

(B) mums@mwmmﬂi

(C) T4 %1 THWT TH U1 FGAY B

(D) 9OY &1 THW Y& W wRfeefra W fl w3 aen ey @

‘A’ entered a house to commit theft. Old lady living in the house saw the thief and shouted
for help, Neighbors collected near the house and caught hold of the thief who was trying to

o~
.+ QuestionPaper

escape. The neighbors gave a thief beatings with fists and lathis. The neighbors are liable {Oriven
for:

(A) Similar intention (B) Common intention

(C} Unlawful assembly (D) Conspiracy

AR T ® AN R T T T FT ) W @ @ aet s ¥ o A e e
éﬁqﬁwmg:rm%1w I W & TEF TS TS 8 T TR 9

IV FW@ gL IR F THER 39 g @ wied ® de geifal # afaw g o
(A) §HF ST (B) W W™
(C) fafy foeg s I IRERE

A village Vaidya used to successfully operate wounds with shaving blade. Victim who was
suffering from piles was operated with shaving blade by the Vaidya. Due to profound bleeding,
the victim died and the Vaidya was prosecuted for causing death of the victim. If you are a
defence lawyer under which of the following sections of the Indian Penal Code you can
defend the Vaidya.

(A) Section 87 (B) Section 88

©) Sectlon 92 (D) None of the above

us o) dgg W 1 G- T TR A W § WEEAEE HI ol U oaferd 5
T F S ¥ GfEw o, 71 2T ¥ SR R T SR T W ® SR e
1 7 B W 21 Ay F fifew 7 gy wE w0 F o At e mn ok emoaEs
T TR T, ﬁmmmﬁﬁmmﬁmmm

(A) ¥ 87 ® (B) ¥ 88 H
(C) vrq 92 o (D) swiw & *§ T
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The Supreme Court of India has struck down the punishment of death when a prisoner
commits murder while under the sentence for life in the case of:

(A) Mithu Singh vs. State of Punjab

. ~ (B) Raghubir vs. State of Haryana

(C) Bacchan Singh vs. State of Punjab

(D) Maru Ram vs, State of Punjab

I=qH e | R AR A sfte e @ afred st B e wifa FE W geEre
| B YEYN H R wIR A

(A) fuag fog T9m vme T4

(B) TER w9 TfEmn T

(C) ===+ fae 9™ d9a T

(D) w8 fag o= I9w T

Common intention and similar intention was distinguished in the famous case:
(A) Barendra Kumar Ghosh v. Emperor

(B) Mehboob Shah v. Emperor

(C) Kripal Singh v. State of UP

(D) Rishidev Pandey v. State of UP

W SR Td §HE S 1 9% fRE 9k W R T

(A) = FAR WY TAH TR

(B) HEYE ¥® TAH TR

(C) U™ e s°9M 3.9, T

(D) fefa wveg o W 39, TF

The plea of sudden and grave provocation under section 300 Exception (1) of the Indian
Penal Code is a; '

(A) Question of Law (B) Question of Fact

(C) Mixed question of Law and Fact (D) Presumption under Law

WA TUE Hfed F U 300 AR (1) § g yeEEed (R e sy #
sffyarh 8, T

(A) Tafy =1 3o (B) T & W¥A

(C) Tafy wd qen =1 fafsm ww= (D) fafy = @8ad T SYYR

Preparation and Attempt are two stages for commission of an offence. Preparation is generally
not punishable. The reason for making preparation not punishable is:
(A) Lack of relationship between preparation and attempt
(B) Possibility of change in mind before commission of the offence
(C) Absence of intention
D) Absence of attempt
TS JIeT STl HIa fd 9 @ R RO R W S sve T #) S a6
e T @ FHA FRO B -
(A) Tt &R woe & e w1 Ty T 2
(B) vy G ¥H % & w.ferfe s # g &
(C) M srufiers 2
(D) wae Srqufeerd @
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Carefully read following statements:

1. According to Section 34 of Indian Penal Code, requirement is of two persons, whereas
under Section 149 of IPC, requirgment is of five persons.

2. According to Section 34 of [PC, common intention is required whereas under Section
149 IPC, common object is required

3. Previous consent is required under Section 34 & 149 of IPC

4. Section 34 of IPC and Section 149 of IPC constitutes a specific offence

Which of the above statements is true:

(A) land3 (B) 2and3

(C) land?2 (D) 2and 4

firefafead woml #t gavrgEs ofgd .

I. R <Ug Wi # U 34 B FER D At e €, S@lE uR 149 F qed uie

wfe srifem @

WNArg <ug Hfedr F U 34 F WHT SO I I ¥, S@fE €W 149 § HA=

IRYI anifera 2

3. 9RAIG 2Ue GiEd T U 34 UH (49 2 o gd wenly sfud @

4. 9Rdrg gue Gl # O 34 W (49 2T fafe ey gem st @

&

22

IRHE § ¥ BH Y FYT TR

(A) 1 3R 3 (B) 2 3R 3

(€) 1 k2 (D) 2 3K 4

When is an arrested person entitled to meet an advocate of his choice?

"(A) During interrogation (B) “After interrogation -
(C) Throughout interrogation (D) All the above are correct 50
ftRR =afem A e T TR 1 SR TN FEF
(A) TB-T8 F (B) qB-® % WX
(C) T YB-ar8 *! ka1 % aed (D) 3T |t wEl €
Where shall the State Government establish a police control room?

(A) In every district (B) At State level

(C) At panchayat level (D) Only (A) and (B) are correct
T WHR Fal Ifos FHgaed wnfa Fom

A) W ot o (B) T9 W W

(C) Wergd &R W (D) Fael (A) T (B) ¥ 2

Any private person may arrest any person who:

(A) Commits non-bailable offence in his presence

(B) Commits non-bailable offence and cognizable offence in his presence

(C) Commits compoundable offence in his presence

(D) Commits non-bailable and cognizable offence in his presence or is a proclaimed offender

FE W wfa R st & IRmR &% 9% 8, 5@

(A) 9% ITH! I9feerfy H TR-Smra STaUY HifE w8

(B) 9% IHH! Iufeerfd § R-SHAAE W@ WA 9Ty FIE H @

(C) &% Iuw! 3ufeufy ¥ wora sTquy #ifa & 8

(D) % Tow Sufeafs § R-smrdta @ g sy wif Fw ¢ st fawrm s
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Every warrant of arrest shall remain in force until;

(A) Itis executed (B) Cancelled by court which issued it
(C) It expires on its own . (D) Only (1) and (2) are correct

Y% fRWR aRE @F] @ ¢, 3« 9% % .

(A) & fFaragy 8 9™ (B) T8 WKl & ol HIE A

™ fw = e &

(C) ST M T8 §HI@ B T ¥ (D) #o& (1) T (2) wet &
Who can record confessions and statements under section 164 of Code of Criminal Procedure?

(A) Any Executive Magistrate or Metropolitan Magistrate
(B) Any Metropolitan Magistrate or Judicial Magistrate irrespective of his jurisdiction

. (C) Any District Magistrate

(D) Any Metropolitan Magistrate or Judicial Magistrate having jurisdiction in case
TUS WiRT Wi 1 U 164 B Hatd HHSHT TI HYT HE {HE HT GhHAT 87
(A) &Y HEHH a0 BUERT afaRe

(B) % Ferfr wRree s = W I8 e SR e

(C) =g foem Aoz

(D) & BPrferds afaee o1 =nfys Afee fawe sfusr &7 €

In case of the information as to non-cognizable cases, a police officer is bound to:
(A) Only enter the information in his diary

(B) Only refer the informant to the Magistrate

(C) Arrest the accused

(D) Enter the information in his diary and refer the informant to the Magistrate
e Uy W ge faen W gfed eifer w1 #

(A) Ho@ e A TEd ® wfaw wE %%

(B) HTd Y 3 A wAfed F UGRE [T HH FI

(C) wfge it IRAER &E H

(D) &A1 %I TR W yafie we g W a1t wi AieE & 9 9SH W6

Any police officer making an investigation can:

(A) Record confessional statement of accused

(B) Record statement of witnesses

(') Compel attendance of persons acquainted with facts and circumstances of a case
(D) Both(A) and (B) are correct

STTY 1 SO FT @ YW s

(A) @i & deelmfa (Fev) e #= wwm @

(B) Weht # FoA * fwre = wwar & .
(C) 3W P 77 d vfifeufal § arfes =afeal ® g & fag s1em # g 2
(D) (A) T (B) 3 wel ¥

4711/6
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Police report under the Criminal Procedure Code of 1973 is:

(A) A report made to the police

(B) Report of police officer on completion of investigation sent to a competent Magistrate
(C) A preliminary report

(D) Anad-hoc report

Tug wiwar wiea & sidma gfere fod @ .

(A) gfed =1 ®1 T e

(B) &=mWvl U BN &% IW Yfew gru waw Afeee w & fro

(C) wrfestar far

(D) 3wt (uz 7Te) frare

First Information Report is not a substantive evidence, it can be used during trial for the
following:

(A) Only to corroborate the evidence of the informant
(B) Only to contradict the evidence of the informant
(C) For both (A) and (B) above

(D) For neither (A) nor (B)

gmwﬁﬂimﬁwwwﬁ%mﬁm%wﬁ%mﬁnﬁfm%gﬁww

(A) e G WeEd F g 3
(B) Sae IR ® Wed & WeA ¥
(C) W (A) Ta (B) 3 ® feg

(D) 7 @ (A) # fow v 7 (B) & fau

Point out most accurate answer:

Under Section 125(4) of Cr. P.C., who among the following cannot c¢laim maintenance:
(A) Only a wife living in adultery

(B) Only a wife living separately by mutual consent

(C) Both(A) and (B) are correct

(D) Neither (A) nor (B) are correct
I :

.mmmaﬁtm‘r125(4)aéswai‘mﬁmﬂﬁﬁwm~ﬁmww=rﬁmm:

(A) ®oa WAl HT1 590 H W @ U

(B) ®aet et wenfa ® oo 1@ @l U
(C) IW= (A) @ (B) I W &
(D)‘—I?I’l(A)&ﬂ'{T-I{B)H?T?

Which Section of the Code of Criminal Procedure provides for the confirmation by the High
Court an order of death penalty passed by Session Court prior to its execution:

(A) Section 366 (B) Section 371

(C) Section 369 (D) Section 368

Tvg yiewar wiegd & 5 U % oW 5T e WYE TR $ YeEUs § SRy &
ofic 3o o i o ¥ 9 T §

(A) HTU 366 H (B) W 371 ®
(C) w369 ¥ (D) w368 W
47/111
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Any proceedings during which evidence is taken on oath is called:

(A) Inquiry (B) Investigation

(C) Sworn statement (D) Judicial proceeding

T i o yoy | weg-vew fE o e

(A) S (B) sm=amul

(C) 9 HYA (D) =nfaes wfeman

The maximum sentence of imprisonment a Chief Judicial Magistrate can impose is:
(A) 3 years (B) 7 years

(C) 10 years (D) No limit

qo1 =nfas gvefusit sfusas e oon ? @ © -

(A) 3 ¥ (B) 7 W&

(C) 10 9 (D) =¥E dm 7EY

The question whether a statement was recorded during investigation is a:

(A) Question of law (B) Question of fact

(C) Mixed question of law and fact (D) Question of fact or question of law

depending on the facts and circumstances
7% 9 % ;0 FE wem o= % SR e T mr ot ® -
(A) fafersr oo 2 (B) d%4 1 WA
(C) fafu wel et w1 fufwa wea 2 (D) @24 W ufifeafaal & $uR W

faf = wea w1 wew 2

Which one of the following is not correctly matched:
(A) Reference to High Court - Section395 (B) High Court’s Power of Revision -
' Section 401
(C) Abatement of Appeal - Section 393 (D) Appeals from conviction - Section 374
= ¥ # W a9 gafem T € .
(A) 39 TaEEE F R - w396 (B) =9 M i A Fi oo -

T 401 )
(C) ordtel T SUWHA - ¥R 393 (D) 3w fafg 9 o1dte - U 374
Indian Evidence Act was drafted by:
(A) Lord Macaulay (B) Sir James F. Stephen
(C) Huxley (D) Sir D. F. Mulla
IRAE W& sttt freer g feen mn
(A) @€ Here (B) R = WIHd
(C) z=q« (D) W BA.UF. Teer
Law of Evidence is:
(A) Lex tallienis (B) Lex fori
(C) Lex loci solutionis (D) Lex situs
mwéﬁg ok o T Eieei
(A) zfafa (B)
(C) o B (D) & faed
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Whether in criminal proceedings the previous good character of an accused person'is relevant:

(A) No (B) Yes
(C) At the discretion of the court (D) Depends on the offence alleged
1 e w1 g el 9 enqufus femmer § w82
(A) & (B) @ |
(C) =med % fods = (D) 31wy HT Fhfa | R w2
Whether the contents of documents or electronic records, can be proved by oral evidence?
(A) Yes (B) No
(C) At the discretion of the court (D) When the witness is an expert witness
w%@mwwﬁmmﬁﬂmﬂmﬁmmﬁmaﬁgﬁzﬁmm%
(A) (B) &t
(C) = # faes w (D) = W& v fadug maft 2
R K Malkani v. State of Maharastra is related to which of the following:
(A) Relevancy of facts forming part (B) Documentary evidence
of same transactions
(C) Leading Question (D) Accomplice
FRF, Ol FH HERE T 1 =15 Frefared § ¥ freg gafum €
(A) T ¥ G=EER & 9T B (B) wEeS Wi
wE qeAl H gET
(C) g% ¥4 (D) wE-3Taut

A confession by an accused made while in police custody, be proved against him only when
made in the immediate presence of :

(A) Adoctor (B) A lawyer

(C) A judicial magistrate (D) Family members
ﬁwmmmmﬁaﬂnﬁmﬁmﬁwmmwm% wa o
wfmfa = T §

(A) THR & wrl'r (B) Shiet & WA

(C) =nfge AfT=e & |WA (D) ufeR % &t & "R

'A' is tried for riot and is proved to have marched at the head of a mob. The cries of the mob
are:

(A) Irrelevant

(B) Relevant but not explanatory of the nature of the transaction

(C) Relevant as explanatory of the nature of the transaction

(D) Hearsay evidence

'A' F T (THR) # fau sfiedfse e s 2, Sk e fag e fr s e s fd w
wel 91| Hig &t 99 .

(A) SO 2

(B) HETd Ui HSATER FI YhHid ® A Tel Hdl

(C) Q9T o THEER &1 Yofa * sared @ €

(D) GW TN WA §

47/1/9
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An admission is the best evidence against the maker if it is:

(A) Oral only

(B) Documentary only

(C) In electronic form only

(D) Either oral, or documentary or contained in electronic form
@il 3 F O @ foreg weew weg €, Ak

(A) T® e B

(B) 7% e Wi A ¢

(C) g€ SEmeiy §

(D) o1 @ wifesw W eaEst a1 seeten B ¥ ¥

A magistrate can be compelled to answer questions on his own conduct as a Magistrate in
Court:

(A) By another Magistrate

(B) By a police officer

(C) By a revenue officer

(D) By an order of a court to which he is subordinate ‘
U HILE i SHh R0 W Y H1 Il & & oIy seg fepan s wevan T e
(A) T Wz & g™ '

(B) gferd THER NI

(C) Tk T AfYSHR g

(D) = g foaes a8 arefiey 7

A witness, who is unable to speak, gives his evidence in writing or by signs in the open
court; evidence so given shall be deemed to be:

(A) In admissible (B) Hearsay evidence
(C) Documentary evidence (D) Oral evidence
TF et T S T TR, O W forgst a1 R ¥ gol e W A 71 UE wed:
(A) st 2 (B) T &N e B
(C) xS e € (D) wifgs e B
Evidence by a dumb witness in sign language must be given:
(A) Inopencourt . (B) In chambers of the Judge
(C) At the residence of the witness (i2) In open court and videographed
ok weht g1 TeR § fean e wed g ey
(A) T = | (B) =iy & =R H
(C) el & T/ ©mH | (D) T& = ¥ ug fafgamme g @fey
The Supreme Court Judgment in Palvinder Kaur vs State of Punjab relates to:
(A} Confession (B) Dying declaration
(C) Entries in the books of account (D) Relevancy of judgments
TAfIEY HR AW Yo T W g w5 o folg gefug @
(A) HwHia 9@ (B) FUA
(C) wE-wr i wgfe ¥ (D) frotai &6t gemaa 9
47/1/10
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Which of the following is correctly matched according to Indian Evidence Act:
(A) Refreshing Memory - Section 158

(B) Identification Parade — Section 10

(C) Admission — Section 24

(D) None of the above _

WA Wed sifufem & ofima #W W g wed gefea €

(A) foofam ¥\ - ury 158 :

(B) 9EHH HAR - HW 10

(C) wisfa - ¥ 24

(D) ST H wE T/l

The statement of a solitary witness:

(A) Can be relied upon by a Court

(B) Cannot be relied upon by a court

(C) Can be relied upon if the Court concludes it to be correct and true
(D) None of the above

T TahTsh! W&l 1 HoF .

(A) = ® fag favewa &

(B) =marera % fore favamg =& &

(C) Tavaera & wwar € aft =rareE st e frdfa st R

(D) W ¥ ¥ *E 7L

Court will presume an abetment of suicide by a married woman, when it is shown that she

committed suicide within a period of _ __of her marriage:
(A) Three years (B) Five years
(C) Seven years (D) Ten years

uF feenfed Afeen g0 STeHeen w3 & "I H e TRl R0 i STROT FM,
g aE e foaE & ... w1 I W W e T
(A) 3 9@ (B) 5 Wid
(C) 7 = (D) 10 =

Which is the correct order of examination of witnesses?

(A) Cross-examination, examination-in-chief, re-examination
(B3) Examination-in-chief, re-examination, cross-examination
(C) Examination-in-chief, cross-examination, re-examination
(D) None of these

frmfefed & & &9 @ el wieo 1 9 w9

(A) wr yle, T T, 3 T

(B) =@ wligul, g wligl, % (@) wlegm

(C) H=A wiiawr, e (%) wiew, §4: gieo

(D) ST H ¥ ®IE &l

47/1/11
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i — — popularly known as the Gandhi Judgement, Supreme Court held that in the
name of artistic freedom or critical thinking or generating the idea of creativity, a poet or a
writer cannot put into the voice or image of a “historically respected personality” like Mahatma
Gandhi, such language, which may be obscene.

(A) Devidas v. State of Maharashtra 2015(6) SCC 1

(B) PUCL v. Union of India

(C) ABC v. State (NCT of Delhi) 2015 (10) SCC 1

(D) Common Cause v. Union of India, 2015(7) SCC 1

it fiof # T ¥ wfag fFe o A Svuaw =mee ¥ 98 fwifa e s - @ e,
SR EAF T AT SHER F @ & AW W fw Wt s S
weredl Tl @ Wi G W v 6 A ww S SR €

(A) ™ T TR TF (2015)

(B) PUCL "M ¥Rd ¥9 (2015)

(C) ABC sA™ T (NCT Delhi) (2015)

(D) STHA TS I 9RG ¥9 (2015)

The Supreme Court in which case directed all the States and Union Territories to consider
the plight of acid attack victims and take appropriate steps regarding inclusion of their names
under the disability list.

(A) Parivartan Kendra v. Union of India 2016(3) SCC 571

(B) Devidas v. State of Maharashtra 2015(6) SCC.1

(C) ‘PUCL v. Union of India

(D) ABC v. State (NCT of Delhi) 2015 (10) SCC 1

e <A 3 e 9w ¥ “ufde s @ R sl 1 gRen 3y ITEE w9 3O Th
3% formerman e & Wit w0 FR e

(A) YRads ®= 999 WRa ¥9 2016(3) SCC 571

(B) &S W HERTE T4 2015(6) SCC 1

(C) PUCL ¥°9 R Y -

(D) ABC ¥ T4 (NCT of Delhi) 2015 (10) SCC 1

Deccan Rivers are fed by:

(A) Snow (B) Rain

(C) Coastal Streams (D) None of the above

2 Afe fofeaa et @

(A) 9% g (B) wfer g

(C) @& ure g (D) ST ¥ HE TE

The Inter-State Council is headed by:

(A) Prime Minister (B) President

(C). Home Minister (D) Law & Justice Minister

R IRE ST

(A) TR B) TR

(C) & wt (D) fafy @@ =ma wsit
47/1/12
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Words are divided into parts of speech according to:
(A) the work that they do in a sentence

(B) the position they occupy in a sentence

(C) according to the meaning of a sentence

(D) according to the number of letters in each word

A group of words which forms part of a sentence is a clause if it contains:

(A) A subject (B) A predicate

(C) A subject and a predicate (D) None of these

An adverb adds something to the meaning of a:

(A) Noun (B) Adjective

(C) Verb : (D) Pronoun

In, *“Neither accusation is true”, the word “neither”is a ;

(A) Distributed numeral adjective (B) Demonstrative adjective
(C) Numeral adjective (D) Interrogation adjective

The genitive case of the relative pronoun “who” is:
(A) Who (B) Whose
(C) Whom . (D) None of these

“The mason is building the wall”, is a sentence in:
(A) Active voice (B) Passive voice
(C) Neither in active nor in passive voice (D) Imperative mood

Which one of the following is not a suit of civil nature?
(A) Suit relating to rights of worship

(B) Suit involving purely religious rights

(C) Suit for rent :

(D) Suit for rights to hereditary office -

frefafes & @ 3 fafae vt &1 o ==& 22

(A) o1 ¥ gfm sifusrt & fog o

(B) ®ad wifie Ifusrrl 1 ST T3 aren ag
(C) 9w & fau ar

(D) W W& &% 3o aren a”

Under which one of the following Sections of the CPC the court may ask parties to a dispute
to go for mediation:

(A) Section 88 ; (B) Section 89

(C) Section 86A (D) Section 89A

fafe witan wfem =1 Frafafes fre v & aea =meE e faas & vawil &1 e
% fom ffde ¢ wwar 87

(A) WU 88 (B) T 89
(C) ¥ 86A ' (D) T 89A
47/1/13
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A decree may be executed under Civil Procedure Code by:
(A) Collector (B) Sub-Collector

- (C) Tehsildar : (D) The Court which passed the decree

fafeer wrran dfem & o feant faouifkm &Y @it .
(A) ey g (B) 39: forenfusrd gm
(C) TEERR g/ (D) fe! wiftm &@ o ==e™ g7

Under Civil Procedure Code find the incorrect match:

(A) Sections ........ Revenue Court

(B) Sectiont 7 ........ Provincial Small Causes Court

(C) Section9 ........ Pecuniary Jurisdiction of Courts

(D) Section 8 ........ Presidency Small Causes Courts

fafoer wfsren wiem & swdima Frnfafan & 9@ #F @ srgafem 87

(A) ¥RT 5. ST =TT

Which one of the following “Orders and Rules” of the CPC provide for “Framing of Issues™:
(A) Order VIII Rule 1 (R Order XIV Rule 1

(C) Order XIV Rule 2 (D) Order XIV Rule 5

Tofom ofran dfear & Frefafeaa & @ W ¥ oy ok frawm “foament =1 faem” &
WA FW 87

(A) =¥ VII fm 1 (B). 3w XIV frm |

(C) &= XIV faem 2 (D) oW X1V R 5

The doctrine of res judicata under Section 11 Code of Civil Procedure, 1908 applied to:
(A) Decision of a court without jurisdiction

(B) A writ of mandamus and of certiorari

(C) Consent/compromise decree

(D) A writ of habeas corpus

fafew wfran dfea =t u/r 11 & ofdma @ = #1 fag@ o & g

(A) fYaR & & fo & =rew & falg

(B) WHRY W yfedem wt fe W

(C) wewfaaweiR & fest W

(D) s wEsHw & fe W

Under which of the following provisions of CPC, the Court may at any stage ofthe proceedings
allow either party to alter or amend his pleadings:

(A) Order VI Rule 14 (B) Order VI Rule 15

(C) Order VI Rule 16 (D) Order VIRule 17

faforet wfran wfea 1 fovd U & a8a =me SrEfEE! & Pl off we W feelt ot veam
o fivereAl ) aiafda o weifem w0 @ oFa WEE W gea €2

(A) s VI Fram 14 (B) smew VI M 15
(C) 3mw VI e 16 : (D) amw VI f=m 17
47/1/ 14
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It is a statement of claim, a document by presentation of which the suit is instituted.” It is
called as:

(A) Aftidavit (B) Written Statement
(C) Counter Claim (D) Plaint

_ ;q’swwﬁmwmwmﬁﬁfaﬁmﬁaﬁﬁaﬁmaﬁmﬁmm%r’@m
(A) IOY-T (B) SrETE-FTan
(C) wfa-gman (D) TR-TH
A “Caveat” shall not remain inforce after the expiry of:
(A) 30 days of its filing (B) 60 days of its filing
(C) 90 days of'its filing . : (D) 120 days of its filing
faer § Q@ fomm A s o wvama & “wfaee” yam W@ wm o
(A) 30 i1 = gvam@ (B) 60 &3 & uvema
(C) 90 &7 & gvem (D) 120 f7@ & qvem

Unver which provision of CPC, execution of decree for specific performance for restitution
of conjugal rights or for an injunction is provided:

(A) Order XXI Rule 30 (B) Order XXI Rule 31

(C) Order XXI Rule 32 (D) Order XXI Rule 34

fafaer ufra dfea & 3idTd o sifver & whoeenm & fafafie uw @ @kw fog fest
% foe &1 wEeH R

(A) sy XX1 fraa 30 (B) emw XXI fraw 31
(C) 3w XXI e 32 (D) 3w XXI fram 34
Pleadings should state:

(A) Material facts (B) The law

(C) The evidence (D) Any facts

Hfoer=m 3| T B

(A) wewgel qe B) fafu

(C) WA (D) ®T5 %4

Which one of the following under CPC is not correctly matched:
(A) Section 50 — Legal Representative ~ (B) Section 77 — Letter of Request

(C) Section 80 — Notice (D) Section 11 — Res-Sub-judice
fofew wfwm dfem & o=hm frenfafes @ @ =W @ 9 gife =
(A) ¥ 50 — fafer wfafafy (B) YRl 77 — AU T -
(C) ¥ 80 — g= (D) ¥ 11 — fo=mfia A
An Offer must be:
(A) General (31 Specific
(C) Incapable of Communication (1) Possible
WS B Wy
(A) Smom (B) faferse
(C) ¥OR = AN (D) |
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Communication of acceptance is complete:

(A) Before the offer is revoked

(B) when acceptance is put in the course of transmission
(C) even the acceptance is lost in transit

(D) after the revocation of acceptance reaches to the offeror
woren #) s gl e 2t

(A) v=E & o § @

(B) W& wfemewr wiwor # ¥w ¥ T fean sw 2

(C) =& o% o fqueor & I901 § @ 9F W

(D) Witweor & WfowEto Jas 9 Tgad & Ak

The following rule as to consideration is true:

(A) It must be adequate (B) Must move at the desire of the promisor
(C) It must be present or future (D) It must move at the desire of the promisee
frefefea froam fawa = gfie @ sugsa 2.

(A) T® W@ g e (B) T SR &1 3991 W A AT

(C) 3% 9a Y@ u§ "oy ® g Tfey (D) I8 SRl 1§98l W ST =fEy

When a minor is supplied with necessaries of life, the supplier:

(A) Cannot recover the price (B) Can recover the price

(C) Can recover the price from the (D) Can file a criminal case
property of minor

W TF A F SerarE sevgnas s-emgd w1 W #, @ werewd

(A) o4 Sga e HT wehl (B) T oYW Y Tehdl @
(C) raterT ® Wi ¥ ¥ g (D) TF I Y T F TH 2
T H HRA €

Which one of the following is correct:

(A) Past consideration is no consideration

(B) Consideration can be past, present or future

(C) Consideration can only be present

(D) Consideration can only be present & future.
frefoafed § ¥ ®F o W@ 2

(A) ST whawe FE wfawa w6 ¢

(B) WiHe S TR, SHE e AR el @ W
(C) wiiwa Pae adwH HIAH e 2

(D) Wiwe Saw adur U6 oy Fed B wha ¢

When the consent to the contract is caused by coercion, the contract is:

(A) Vald (B) Voidable

(C) Void (D) Illegal.

& dfag # fou geufa so@ ¥ & W B A

(A) W T R (B) wfem R 2

(C) W I 7 (D) dfemr sy 2
47/1/16
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Arrange the sequence 0f the following concepts in which they appear in a contract, using the
code:

1. Communication of acceptance 2. Deceit
3. Invitation to Offer 4. Damages
Codes:

(A) 3,2,1,4 (B)3421
©€) 3,1,2,4 (D) 3

mmmmmgmmmmwmﬁw forad 9
wfem o g e R

1. wgia & §ER 2. drEye
3. wE W w1 s afagi 4. wfagfd
72 : |

(A) 3,.2,1,4 (B) 3,4,2,1
() 3.1,8.4 (D) 3,2,1,4

The acceptance given by ‘Y’ on X’s invitation for lunch over phone is not a contract because
of which one of the following?

(A) The acceptance was given orally

(B) The parties did not talk face to face

(C)  There is no intention to create a legal obligation

(D) Invitation cannot be proved in a court of law

‘X’ g ‘Y’ﬁéﬁﬁﬂwﬁﬂ@ﬁmﬁﬁnﬂwﬁﬁﬁﬁﬂﬁﬁaﬁﬁﬁmw%
FRO e & g

(A) wsf dfgs & T o

(B) THHR 3 FH-TR a0 T ot

(C) vesrl &1 fafiym areran givm &6 &1 | T8 o

(D) T e & wifes @Y & T

Consider the following statements:

1. - An agreement without consideration is void

2. Consideration should have some value in the eyes of law -
3. Consideration must be adequate

Which one of the statements above is/are correct?

(A) 1,2and 3 (B) 1 and 3 only
(C) 3 only (D) 1 and 2 only
frefefen wo | =R fwieg .

1. Tomn wftwel T W T @

2. e fafu #1 gfe § w g0 oA =fe

3. wiawer waiw g =Y

frafafad 3§ ¥ #F ¥ woF 71 82

(A) 1,2 3R 3 B) 1 33
(C) wew 3 (D) %ad 1 3K 2
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~

76.

i A

78.

79.

80.

Downloaded from questionpaperdrive.in

‘The Sale of Goods Act, 1930 is based on:

(A) The English Bills of Exchange (B) The Transfer of Property Act, 1882
Act, 1882

(C) The English Sale of Goods Act, 1893 (D) The Indian Contract Act, 1872.
e, fsRa StutrEE, 1930 ST 2

(A) ¥ oo offr sowels W, 1882 (B) Wefd sfawwr sifufam, 1882
(C) st wre fasea stfufam, 1893 (D) g wfee sifufaw, 1872

A bill of lading is:

(A) A negotiable instrument like a bill of exchange
(B) A negotiable instrument like a promissory note
(C) Either (A) or (B)

(D) Neither (A) nor (B)

T % faa €

(A) & W faga 39 T fae o s
(B) U& Yk forEa @ i o= o

(C) @ T (A) 7 (B)

(D) T (A) T& (B)

The judgment of the Supreme Court in Indian Steel and Wire Products v. State of Madras,
AIR 1968 SC 478, is a decision on:
(A) Sale and statutory transaction (B) Contract of sale and contract for

work or service
(C) Contract of sale and hire-purchase (D) Contract of sale and bailment.
T Wil T8 T WIeRH T HEW T AIR 1968 SC 478 w1 Fiofg e §
(A) T wd duifs weaeEr (B) foawa wfaw iR & a1 Qe wfee
(C) fora wfemn @ik ferran @iz (D) fosra wfam oIk sem= (Smrm)

A Partner of an Unregistered Firm cannot sue the Firm or any other Partner of the Firm to
enforce a right:

(A} Arising from a contract (B) Conferred by the Partnership Act

(C) Either (A) or (B) (D) Both (A) and (B)

U INGSfioRd FH 1 WAER, 1 % foes @ ariier & faes o sifysr # feenfem &
% g o) Tl A H qHA

(A) dfewm | 3T (B) it stfufam gro fean man

(©) @ 3 (A) 7 (B) (D) (A) 3iR (B)

Registration of Firm does not create Partnership, but is only the evidence of Partnership:
(A) True _ (B) Partly True

(C) False . (D) Partly False

w1 gt Wit el e S a8 saw 9rieRl &1 Wil

(A) W& # T (B) enfyw W R

(C) o (D) ek T
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The accounting rule in respect of loss arising due to insolvency of a Partner is dealt with:
(A) Garner v. Murray (B) Hyde v. Wrench

(C) Carlill v. Carbolic Smoke Ball Co. (D) Derry v. Peek

T iR & fearfeee & wrw g ot @ W § oreiwe fraw” fen T

(A) TR S W (B) ¥ES oW =

(C) wfetel o™ FraEifas W a1a F&H (D) T =4W diF

The Doctrine of Holding Out is mentioned in:
(A) Section 25 of the Indian Partnership Act
(B) Section 28 of the Indian Partnership Act
(C) Section 29 of the Indian Partnership Act
(D) None of the above

=ZRyA w1 fagra (e amse)

(A) ur 25 # fafea 2 -

(B) urq 28 ¥ fafga 2

(C) w30 # fafea ?

(D) W ® ¥ frdt o =

Which one of the following is not correctly matched:
(A) Definition of Partnership — Section 4 (B) Partnership at Will — Section 7
(C) Expulsion of Partner — Section 33 (D) Authority of Partner in Emergency —

Section 23
frefefas & @ 19 @ wdt gifem & @
(A) Wit bt aftsren - w4 (B) &1 W HI{I - ¥ 7
(C) wrfER =1 fshres - um 33 (D) 3mareeTel § SRR 3T WIfeRR — 4R 23

What is the consequence when the age of a Hindu girl at her time of marriage under Hindu
Marriage Act, 1955 is less than 18 years:

{A) The marriage is valid but punishable (B) The marriage is vdid

(C) The marriage is invalid (D) The marriage is illegal’

f&g foam stfufm@m, 1955 & i foare & wva & fog o=l &1 &9 18 99 | %9 BH
% w1 9o ® '
(A)mm%.mg@m% (B) foam v 2

(C) faar sfafimr= (D) feomre sdufTe 2

Which of the following pairs is correctly matched?

(A) Yamunabai v. Anant Rao (1988) — Cruelty ‘

(B) Sobha Rani v. Madhukar Reddy (1988) -— Desertion

(C) Dastane v. Dastane (1975) — Judicial Separation

(D) Sarla Mudgal v. Union of India (1993) — Divorce on Ground of Conversion
frefafen & @ #9 W 7w W& gfem ¢

(A) FEAETE 9 H{TA TS (1988) - FHI

(B) VIWRH &9 AYF 1SSl (1988) - oS

(C) @™ W T (1975) - wAaw geahR

(D) TREN G S HRA W (1995) - HHRW & MR W e -faesg
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'X'a Hindu aged 28 years marries "Y' aged 25 years according to Hindu rites. It turns out that
at the time of marriage "Y' was pregnant by someone other than 'X'. The marriage between
'X'and 'Y' is:
(A) Tllegal (B) Void
(C) Voidable (D) Not a marriage at all under

Hindu Marriage Act
X' T 28 T feg 'y s 25w feg (ufeen)?, feg Oft fae # sER e w@
2| TvER 7% 96 e € fo fame @ wwg Y el o= e @ et ot X wE Y
% o9 foEE
(A) ufe 2 B) = ¥
(C) Y& § (D) feg faare sfufrem & sieft foaame 7@t @

In which of the following reports, the Law Commission recommended the “Breakdown
Principle” to be accepted as the additional ground for divorce:

(A) In 70" Report (B) In72™ Report

(C) In71 Report (D) In none of the above

et # @ fopg o o ardta fafy smam 3 faere fasde & sifafem wied srum # &9 4

- “faeee fagra” (3% e=A fagia) ®1 R & oo

22

(A) 70 fie ® (B) 724t fdie #

(€). 11 fuie | (D) 3w ¥ ¥ foet & &

Prohibited degree and sapinda relationship are:

(A) Mutually exclusive - (B) Dependant on each other 58
(C) May overlap each other (D) None of the above

sy foft ol wfte wew v § 2 :

(A) TER 34 (B) T @ W s

(C) T gt W e (D) T | g &

The concept of “Antecedent debt” is first of all well described in case of ......
(A) Brij Narayan Rai v/s Mangal Prasad ~ (B) Pannalal v/s Narayan

(C) Sitaram v/s Harthar (D) Girja Shankar v/s Navin Chandra

@9 =0 1 fag veet an few o) § w@ sfed R o

(A) 5 TF T =M 9T 99K (B) w=IETE FAM ARIAA

(C) SR M BRE (D) frfien Wit & T T

Coparcenary property of a Hindu:

(A) Devolves by succession (B) Develops by survivorship

(C) Can be partitioned (D) Cannot be partitioned

w e F weafawt vy . ‘

(A) ITUHER ¥ = et (B) swUSifead & =M &l &

(C) fawfea #1 1 T @ (D) fawfora & #t = vt €
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Supreme Court in which of the following case held that women can also be manager of a
Joint Family.

(A) Shreya Vidyarthi v. Ashok Vidyarthi 2015 (13) SCALE 643

(B) ABC v. State (NCT of Delhi) 2015 (10) SCC 1

(C) Ram Singh v. Union of India 2015(4) SCC 697

(D) Devidas v. State of Maharashtra 2015(6) SCC 1

fr=fafa

g TE 9% W ITAaN Aged 1 9 g K ? T wfeen o wgFa 9fEr
! yEYE 8 gl ¢

(A) s faanedt s=me swiw famnef (2015)
(B) ABC &M T4 (fXeeft) (2015)

(C) ™ fog s wRa w9 (2015)

(D) fFer w9 WeRE W (2015)

‘A’ marries ‘B’, the widow of his elder brother. The marriage is:

(A) Valid (B) Void
(C) Voidable (D) None of the above
‘A I T2 WE w1 faven ¥ faee w2, t@ faaw
(A) W&t # (B) ¥ #
(C) EwwE 2 (D) ST ® § F1E T2
The limit of testamentary power by Muslim is®
(A) 1/8 (B) 173 =
(©) 1/5 (D) None of these ~0ue
mwﬁmmﬁm%: o
(A) 1/8 (B) 173
€) 15 (D) 3T °§ & #15 T
Which of the following are sources of Muslim Law?
(A) Quran (B) Ijmaa
C) Kiyas (Qiyas (D) All the above
%%f%ﬂé()ﬂya‘zﬂgfmnﬁfawm% :
(A) =T (B) &=
(C) fFam (D) SHIE Gt
The legal guardian of a Muslim minor female is:
(A) Father (B) Grandfather
(C) Mother (D) Maternal uncle
% gfeew saawn wifew & fofus wew
(A) Tua (B) <=1
(C) A (D)
47/1/21
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Which one of the following is not essential for a valid marriage under Muslim Law?
(A) Offer and acceptance (B) Competent parties

(C) Fosterage (D) Free consent
Frerfafan % § #1 @ gfem fafu & o fafy =1 foare =1 sTavas o T ¥
(A) ¥&TE T8 HEH A (B) W&W U&FR
(C) umas (W) (D) s wewfd

In which of the following case the Supreme Court has held that the “three talags™ would be
treated as a “single talaq™ and not a valid talaq:
(A) Mohd. Ahmad Khan v. (B) Bai Tahira v. Ali Hussain (1979)
Shah Bano Begum (1985)
(C) Shamim Ara v. State of UP (20020 (D) None of the above
frafafeaa & 9 form o & giim w1 7 aifufuifa fFa @ f5 99 o #5 “tF qors"

HA ST Gl I8 A qelles A8l 8
(B) o mifgw sAm a7t €89 (1979)

(A) #. EHS @H T9H
Y S ST (1985)

(C) v 3 o9 3.5 T (2002) (D) W § ¥ &g Tl

Iddat is a period during which a Muslim woman is prohibited from marrying on dissolution

of marriage:

(A) By death (B)" By divorce

(1)) Both (A) and (B)

T 9% sty ® W f qfeew wfeen foew & fawet w faee @ whidy w1 S @ o

(A) 99 8T (B) @& gma

(C) ®a@ (A) T 3 (B) g 7l (D) = (A) 3K (B)

In which of the following cases the Court held that “Doctrine of acknowledgement” is a part

of the substantive Muslim Law of Inheritance and not a rule of Evidence:

(A) S A Hussain v. Rajamma (B) Mohd. Amin v. Vakil Ahmad

(C') Mohammad Allahadad Khan v. (D) Habibur Rehman v. Altaf Ali
Mohammed Ismail Khan

frefafas # @ fre 9 § =aem § w1 2 fF sfireigfs = s (gfem) fafu &1 am

FE T R, 7 fE e % fraw ©

(A) TET, g sAm TeE

(B) EWIR STHIA 999 dehial 3TEHR
_(C)WW@TW

(D) TEEX WHM &9 HAAdE el

TR TEAEE @
A gift by the husband to the wife in lieu of her dower is recognized as:
(A) Hiba-bil-iwaz (B) Hiba-ba—shartul-iwaz
(C) Hiba (D) Will
9fd gR1 Te W F SeA § fEAw T I wewAr ¢
(A) Tear-fag-za=i (B) fean-=1-vfager Tog
(C) femn (D) =T
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